1.1l Daca

APPE€S LO

ST UDY L ENTRE

TNPSC GROUP 1/ Il PRELIMINARY
WEEK TEST 1 OF SEPTEMBER, 2023

Which of the following is correctly matched?

1. The Head of the Government - President

2. The Head of the State - Prime Minister

3. Indian Legislative System - Bicameral

4. The Chief Minister of the state - Head of the Government
a.1and 3 only b. 2 and 3 only c. 3 and 4 only
d. 2 and 4 only e. Answer not known

LeiTau(heueteummIen FHlumsll GUThHhHulene 6lenel?

1. opaThIEsHHeT Hmeval] - GLQWIT & &HGHENELEUT

2. ofler Hmeval] - Ly S0

3. @hFHw FULIDGB (LpenB - FFJ 66

4. 10TH60 (LpSHEVEMLDE FiJ - DITFTRISHDHI60T  H6D6V6M]T
a.l wBpib 3wl Hb b.2 wBmib 3 G C.3 BmIDb 4 1l (BIb
d.2 wBpb 4 w'GD e. alewL O fuialedemev

Which Article of our constitution lays down that the executive power of
the union shall be vested in the president of India?

a. Article 52 b. Article 53 c. Article 54

d. Article 56  e. Answer not known

BhHWL  AMNWSIHET  DTFUIMLITED 6lhd FIHDH HITUTS DISHBTTHMDH
GRWT&HSHHMLe(HHEG DleNeBmEH?

a. FIHH 52 b. sy&& 53 C. FIHGH 54

d. susa1 56 e. alewL OFHfuwaledensv

Consider the following pairs:

Article Provisions

1. Article 61: - Procedure for impeachment of President

2. Article 58: - Qualification for election as President

3. Article 120: - English and Hindi to be the languages for conducting

business in parliament.
Which of the given pairs is/are correctly matched?

a.1and 2 only b. 1 and 3 only c. 3 only
d.1,2and 3 e. Answer not known
LIGSTRU(HLD EememTHemer OLUID.

FTHSI G [BIB6IT
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2l PDaca

1. 5765 61 - GWIFSBHmevalfle LIGHalhebsd

2. 576G 58 - G UWIT G HHEMEV6UT TS BT H[HIHHLILHEUHMBSHT6
SGBIBel
3. g76Ha 120 - BHHUD — RIHEOIPLD  BILTEHOSIBSHHET  DIGVIeU6Y
QLo 6T
GomaewiLauBmleT FHWMsL QUT(HHSHW EenenidHel 6lenel’?
a.1 wBmib 2 L GBI b.1 wBmib 3 1w G c.3 wl Bw
d.1, 2 wBmd 3 e. alowL Gxfuialsdensv
Match the following;:
A. Legislative 1. Administration of Union Territories
B. Financial 2. Appointing Pro tem presiding officer
C. Judicial 3. Seek advice from the Supreme Court
D. Executive 4. Control over contingency fund
QUTHSHHIS.
A. L 1D&SIBLD 1. welwer LIyGpamisemen bTausslddHe0
B. p&sHaiens 2. HBETIH DeNeUSH HEMEVEU] [BIUILDEDTLD
C. padaiemm 3. 2 FFpIHaiBHIHLD Georgmen GUBIIS
D. plyaurssgienns 4. eHurgns CFeveypld LBsHTer DIFHSTTLD
A B C D
a. 4 2 1 3
b. 3 1 2 4
c. 1 2 5 4
d 2 4 3 1 e. alewL Gxfuwelsenew

Choose the correct statements:

1. Article 61 of the constitution lays down a detailed procedure for the
impeachment of the president.

2. A Charge for impeachment has to be made only in the Loksabha.

3. It should be moved by giving atleast 14 days advance notice.

4. The Resolution must be passed by a majority of not less than 24rd of

the total number of members of the house.

a. 1,3 and 4 only b.1,2 and 4 only c. 3 and 4 only

d.1,2,3and 4 e. Answer not known

gflwmenr gnppisenet CaiTa

1. opgemwiiier  6l-aug  FIHH  GLUIEHS  Soevalflar  UFHel B
QHTLJLITEISH

2. BwrssH SHmevauflel UHel HHE GBBITL ML  HHeMmalUTed (CeuTdFeamL)
ol BHGw OBTewWIH QU  (LPIQULD.

3. @HHTOTRNSHHBEG GOBHSU FD 14 BT S6T  (Weignl 198w el
GULPRISLILI(HLD.

4. BHHmaW FHoTeEd Seval o mileriseiear CTshs eewienibamauisy 2/3
LURISBGHS GHmBUWTSH OLHLbUTaTIenWmed BlenmGaummriL GeusawiHLb.
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10.

2.1 Daga

a. 1,3 wBpid 4 L B b.1, 2 wBmid 4 w1 GHb C.2 wBEmid 4 1w GHb
d.1, 2, 3 wBpId 4 wWLEDe. alwL GFHMuwelsensy

The enforcement of presidents rule when a state does not obey the union
government direction is defined under

a. Article 366 b. Article 356 c. Article 365

d. Article 352 e. Answer not known

@(h WIpHeo eamw  ordfer  auPsT hHNHEG Sewimis  BIGEGLEUTS,
GLRWISGSHHmeval] Sl Fenwl ILevLIBSHSH alfleuensd CFuIaIg).

a. alg 366 b. a8 356 c. a8 365

d. elg 352 e. alewL Gxfuialsdensv

The Union Executive who has the power to appoint of official language
commission is

a. Prime Minister b. President c. Cabinet Secretary
d. None of the above e. Answer not known

DIVIeed GIOTHSEGH (D6 DIMHGD DIH ST OSHTewiL el [HliTeursl .
a. Ly HLoT b. Guurassmeval] . a6 GFuieuTerTy

d. Gumampiu gagifevemev e. alenl O fluialedensv

Which Executive of India occupies the second highest office in the
country

a. The Prime Minister b. The Speaker of Loksabha

c. The Leader of the Opposition d. The Vice - President

e. Answer not known

OhgHwumaler @rewiLmeud We o Wihsd Hifeuts usalwns alenmiGHead _ .
a. LysLofJ b. wésenemar FUMBTUIG]T

C. IS F&H Hemevau] d. siement GUWTFESH HENeVaU]T

e. alewL GFfwealedenso

Article 63 to Article 70 deals with

a. The President b. The Prime Minister

c. The Vice - President  d. All the above e. Answer not known
FIHBH 63 (PHeL FTHH 70 eued] WIMTHL 6T GIHTLJLenL UIgH)?

a. GLQWIIGSHSHM6VE] b. Wysioy C. SN GHQUITHSH HEN6EVGU]

d. GuBammiu Smarshzid e. alenl OHfluialedensv

Who will act as the President of India when the office of the President and
the Vice President are vacant?

a. The Chief Election Commissioner b. The Prime Minister

c. The Chief Justice of India d. The Speaker of Lok Sabha

e. Answer not known
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11.

12.

13.

14.

Al Paca

GLWIGS SHMevalT LOBBID HEWeW GRUWT&HSH SHwevauT LS G M6l
sTeUlWTed me&GHD  Curgd @bHHW GQUITHSH HMELEUTTS CFUIEOLIBLGUT WITT?
a. HMOMIDH BHTHeO ELEEWIWIT b. Wysiom

C. 2 55 BHFHDOSMB SHMeVMID BHHLIG) d. ésenenal FUMHTUIGT

e. alemL OFHTwalsdensv

The Supreme command of the Defence forces of the Union of India is
vested in whom?

a. The President b. The Parliament

c. The President but regulated by Parliament d. Chief of Defence staff

e. Answer not known

BhH @EMBlSHHET UTHSTULL UL S6MMeT ST o WIT  LenemnTulHSTILD
wrflLib o eieng)?

a. GUT&S HemeveuflLLb

b. umymEBEBSHSL 1D

C. QWSS HemevauflLLD: SLeIT60 LITITEHLOB ObM(penBHEnsd 2 LUl (

d. wliuedL g sewevenind, Hemuguil b

e. alemL OFfwalsvensv

Choose the correct order of the Vice Presidents based on the succession.
a. K.R. Narayanan, B.D. Jatti, Zakir Hussain, B.S. Shekhawat

b. Zakir Hussain, B.S. Shekhawat, B.D. Jatti, K.R. Narayanan

c. Zakir Hussain, B.D. Jatti, K.R. Narayanan, B.S. Shekhawat

d. B.S. Shekhawat, Zakir Hussain, B.D. Jatti, K.R. Narayanan

e. Answer not known

FHleew GlpWITFSHHmevalTHemer Fflwmer suflengenwl CHThHOHBEHBLD.

a. Cx.o1. mrgTwenter, .9, MMy, MralT an°Gger, L.een. CagsTaud
b. mrdT an CGgzeir, L.eterd. Cagdmeud, Lilg. 2mly, GH.&YT. HIFTUICHTCT
Cc. gralT am*Ggeir, Lllg. mmly, Gs.oiT. BIITWe6NIE, Ll.eter). CagsTeud
d. t.eted. Qagdmeusd, MrAT amGger, Llig. My, BH.OUT. HTFTUICHIEH
e. alewL GFfwealedenso

Who introduces the Annual Financial Statement (Budget)in the
Parliament?

a. Prime Minister b. President c. Finance Minister
d. Cabinet Secretary e. Answer not known

WG HFH DNSdHenHenul LITTTEHLOSIBSHSH6L WTT SIBI(pSLILGSHIHISBTT?

a. LNyHLoT b. GuRWIsHsH Hmeveul C. B& SImDFFT

d. smevenip QFwevrent €. alewl G fluwalevenev

Who appoints the member and chairman of the Central Information
Commission?
a. President
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16.

Bl Daga

b. Chief Justice of supreme court of India
c. Committee under the leadership of Prime Minister
d. Home Minister of the country

e. Answer not known

HSHU  HBEUD DLEMENTULISHH  HeWeLaUT OBBID 2 MIITelTeemen  BULOILG
wimir?

a. GRWIHS HEN6EVEUT b. o Fspdloas Hmevenio HHLIG

C. Uysofler Henevenoulevmes @ (p d. BT 196t o 6iigiens DiemDFFT

e. alewL  GFHflwailsvensn

The Indian President’s “Veto Power’ is a combination of

1. Pocket Veto 2. Absolute Veto

3. Suspensive Veto 4. Qualified Veto

a.1,2and 3 b.1,3and 4 c.2and 3
d.2,3and 4 e. Answer not known

OhHW GurssHHmevalfler HHULITENN DHBTIHH0 2 eiTenL miglullmliLiene,
1. ursGsl  HBLILTEnesT 2. (1pIpeMLOWITET  SH(HLILITENEIT

3. sBa1eds SHHLILITen6uT 4. @Haruihg SHHLILITEN6T

a. 1, 2 wmpb 3 b. 1,3 wBmb 4 C. 2 1BmiIb 3

C. 2, 3 wBpb 4 e. allewL  OFflwalsvensv

Which of the following statement with respect to the Indian President’s

power is/are correct?

i. ~ Money bills can be introduced in the Parliament only with his prior
recommendation

ii. ~ When the financial stability or credit of the nation is threatened, the
President can declare the Financial emergency

iii. The President is not answerable before any court of law for
exercising the powers and duties of his office

iv. The administration of Union Territories is the responsibility of the
President

a. 1, iii and iv only b. ii and iii correct c.iand ii only

d. i, ii, iii and iv correct e. Answer not known

Ueiaumd  samBpiseiedy @b  GQUTHSHMmeVaT DHBTTSHH0 6151/ eTenal

gilwmengl?

1. Gwrssd Hmevaufler weufbgienguLer wEGHOW Lo  WEFTHTHHMeN
BILTEHLOSBSS0 P WSILBSS (PYULD

. BIlger B HoeHIHEnD DIV60H FLGT  HeDeD DIFFHBIHDHNIDHE
o efem@ld GuTEH GUWTHFSHHMevaUT MG OH[HGHHY Henevenuw! DiBealsHs
pgujib

1.  GQUITHSHHEN60AIT HETG SIVIAGVD &3 60T ENE 3G T LOBBILD

SLMDHEMOTL  LWSTUGSHBHIUSBEG — 6IhHOUTH  HHIDGIBHH T (PG
LuFHlevelds BhHameauulevenso
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18.

19.

20.

L1l Paca

iv. welwer UyGsamiseie HTaUTESHMBE GQUITEHHMELUT GILITNBICILIT6T6UT
a.i,iii wmpid iv 1o’ GG & b.ii @b iii w GG &l

c.i wmmid ii w GG & d. i, ii, iii wBmid iv &

e. alewL O Mwalevenso

What is the procedure for removal of a Vice President when he acts a
President?

a. Removed by a resolution in Lok Sabha

b. Need permission from Chief Justice of India

c. Need Permission from Attorney General

d. The method remains the same as for the president

e. Answer not known

SN GRUITHS SHMeLaUT, GHRUWIT&HSH HMeVaUTTE OCFweOLL(H OFBTemNg (HhEGLD
QUTIREH Sieuem] USABEHSD GFLIUID (pedB WITgi?

a. SPemaluiled SHTOTEID SUIBMIEUSHET LPEVLD

b. b Fmevenio BHUHUNGT Siaind) CHeme

C. @b FHemevemID AUPHGHMIEh e Digningd) GHenel

d. guuras smeveleny LS BHHBD CFUIL Bifewuldssiul L 9165 (Wwens

e. alemL OFfwailsvensv

The president nominates members to the Rajya Sabha

a. 10 members b. 12 members c. 11 members

d. 9 members e. Answer not known

GSIQUIT G SHEN6LAUIT, LOMTHl6VRIBH6TEM6 U160 ® I 6T H6m6T]
BIWILO &SI

a. 10 o_minferrasel b. 12 o _miileniTsel c. 11 2 _minlerrseir
d. 9 o giilerser e. alewL Oxflwaisvenev

Which Article of Indian constitution says that, “The Supreme Court is
bound to give advice to the President of India”?

a. Art.143 b. Art 144 c. Art145 d. Art. 146 e. Answer not known
“o FIBHFHOGIBLL  @hHHU  GRUWTEHSH Hmeval(hd& — UCeoTFmen  aUPHIS
sLeLILUL (BeTongl”- @bHu  Spfweoenoliiler  6hsd  FTHH  BHemed
SPGB BE.?

a. 5163 143 b. sysa 144 c. sysal 145

d. ss55 146 e. alewL Oxflwaisvenev

With reference to Veto power of the President consider the following
statements.

1. Ordinary bills can be ratified, rejected and returned

2. Money bills can be ratified, rejected but not returned

3. Constitutional amendment bills can be ratified, rejected or returned
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22,

Z1l DPDaca

Which of the above mentioned is/are correct?
a.1,2and 3 b.1and 2 c.2and 3
d.1land 3 e. Answer not known

@Igu_IUaig) Hamevalfall HOBUIL SLement DIHSTID LBpiul EaBBIG6T DI,
. gngnyent LCFTHTHHMN  GBMISOBHTETEHH0, MHITHMHHE0 MmID  SHlHULd

SIDILILFH60 SUIGVILD.
2. ueor EFTHTMA GBMISOBHTETEHHE0 LOBMID HIFTHNHH0D SUIGVID  HLEIT6Y)
@uievr .
3. opfwevemiolil]  HpGHHD WCFTHTen  gBBISHOBTeTEHH, HIITHTHH60
DIVEVSH! BUIGVILD.
GoBaTeanILIBLmaIS6T6D 61/ eTenal Fhuimeig)?
a. 1, 2 wmpb 3 b. 1 wBp 2 C. 2 wBmib 3
d. 1 wBpw 3 e. alewL Oz fuwaledemsv

Consider the following statements on the powers of the President to grant
pardon:

(i) He exercises his authority as a court of appeal

(ii) His power is not independent of the Judiciary

(iii) The President is not bound to hear a petitioner’s

(iv) Power to grant pardon is primarily a matter for his discretion

a. ionly correct b.1iand ii only correct c. iii only correct

d. iii and iv only correct e. Answer not known

GlQWIg  Henevalle el LILalea@GD HHeTrn uBBlw  Leeupd  sBpidbasemer
DI

(i) o6 s oIPBMHHemenr  Goed (emBull (B BAHIDGTIBLOTED
CFWeOLIBSHHIHMITT.

(i) owuflar oFsMd FPHOSBSIHET DHSTTHHBHESG SLILTBULL S B0eN6V
(iii) Gywrs smevalT Smemen W GCaTmBaummae SUGUUL  Couemigul
SlauFWD  E606m6V.
(iv) wenefliLefd@LD SIHBMTIID TGILIG) SlQLILIEnLUil6eD SIeUHEL |
FBLILSSTTD SLESLD.
a. (i) w @ g b. (i) wBpid (ii) &M c. (iii) w Gw &
d. (iii) wBpw (iv) wLGw &f e. alenL Gaflwealsdemneo

Consider the following statements and find the incorrect answer:

1. The constitution imposes limits to President to give assent to the bill
passed by the state legislature

2. The President may refer a reserved bill to the Supreme Court, under
Article 143 for discussion.

3. The power of the President assent to the bill passed by the State
Legislature and Parliament are the same

4. The President cannot keep a bill of the Parliament pending at his hands
for an indefinite period of time
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24.

Ll Daca

a.1and 4 incorrect b.1 and 3 incorrect c¢.2 and 3 incorrect

d. 3 and 4 incorrect e. Answer not known

BIDHBHMIL FnBBISHHMeNT HUIHSH HAUBTET FnBBIBEN6TH SHNIL MWD

1. wmplev FULweaBd SuBBlw WWCFTHTOSHE GWTSH HMEVAIT Heilenlenl |
QULSHMVSH HJ DITFWeVOLILF FLULID F60 eUTIDLBHM6N B SHHI6TeISI.

2. §I6HF 143601 S GQUWTSH HMEVAT BHBISHEH mauSHHBHGW WEFTHT LB
® FFHPHIOAIBSHIHIL LD HE60TF 60D

3. UMJTEBHLOGIBID LOB@ID FLUL  WeBhGeT QuiBplul wCsTeHTEHS6T WH GlUWITs
HemevalT @y wrFHflwmer HHBTTHMSH CHTEuIg(HBHMTT

4. utgm@poadBd QuBplul  wGsTHTeme 15  GQUWTEH  HEWeVAUT,  BHT6Y
aUTWBWIEIN  QUILIHED HITO6D MUSHH(HBS (LPIQUITSH

a. 1 wBpid 4 W @b Heiy b. 1 Bmd 3 W' D Heuwl

C. 2 wBwid 3 W B Heuyl d. 3 wBpd 4 wWLEDL BHoum

e. alewL Osfwaledensv

Which of the following is incorrectly matched?

1. Article 361 - The President enjoys protection from criminal
proceedings against him in court of law

2. Article 352 - National emergency

3. Article 356 - President Rule in State

4. Article 360 - Finance commission

a.lonly b.3only c.1,2and3 only d.4 only e. Answer not known
SLDI(HOUSTUBBIGT 61&H HAUBTH OUITHSHLILIL (HeiTend)?
1. 5768 361 - BIHLIABSHIHO GQUTSHS HMELHEE 6IHTTT  (GHMBaIUIeD
BLAIYHMBH6IMND E(HHH LTHSTUIML  GULDHIGHSMBSHI.

FIHEH 352 - Gxpdlw OBHESYHBM6L LIFHL 6oTd

FIHSH 356 - IHeVSHHD GLQUITFHSHHMEVT S &

FIHFH 360 - B HLemewIuiDd

1 oG b. 3 w @G c. 1, 2 Bmid 3 1l Bib
.4 LB e alomL OFflwalsensv

O AW

Assertion (A): The council of Ministers is collectively responsible to the
Lok Sabha.

Reason (R): ~ Ministers are appointed by the president on the advice of
Prime Minister.

a. A is true but R is false

b. Both A and R are true and R is the correct explanation of A

c. A is false, R is true

d. Both A and R are true but R is not the correct explanation of A

e. Answer not known

BB (A):  SlmFFTMmEILITEIS LDE B GTTEN 6L &, Fal LT
OUTBILILENL WISTELD.

smyenid (R) :  oenwssismer Urswiear  oBsorgamenuier  Guifled  @lpwys
HM6La] B HESIBT.
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26.

Q.1 Daca

A g gemmed R seup)

A oppid R gfl A sater sgflwner eflendsd R su@b
A seap, R &4

. A oppid R gf A saten sflwnenr elendsid R ousngl
e. alemL OFFlwaledensv

Choose the correct Statements:

I.  The concept “executive power” is defined in the Constitution

II.  The executive power of the president is co - extensive with that of
the legislative powers of the Parliament

III. The “Executive Power” also includes determination of the
Government Policy

IV. To be elected to the office of the President a person must be
registered as a voter in a Parliamentary Assembly.

a.Iand II only b. I and III only c. IIl only

d.Iand IV only e. Answer not known

gflwmen gnpmaenen CaiTs.

L. “wiTeurs SIHBMTILD” 616313 B(HHSDI SIFFWILEMLOLILITED

DT WIMISBLILL_ (H6TT6TTS.

II. ©uurs somevaflar HiTaTE DHBTID LITTTEHOENS FU L DHBTTHEHIHE
Benewiwimen Sjemalled CFWBLGSHSLILLS FnlQUISTESLD.

III. “miteuns SIH&SMID”  6leTUH PFTHIS OCEHTeTendMUI  SHITIDTENHEGHLID
DIHBMTHMSUID ©_6ITeNL HSHUWSHTGLD.

IV. @mwaim @uurs smevalT usHaldsd CHTbOsbBHsIUL  CalemsiBLOTEIT6D,
ST GBIUUTRIOSTH FLLIEN OOFHTGHHUID QHTESTITS L6y
CewIHmbd Geuewmr(BHLb.

a.l wmpid II 1o G b. II wBmid I G c. III w1 @b

d.I wpgib IV w @G e. alewL Oxflwaisvenev

Choose the False Statement with respect to the qualification for the

election of Indian President.

a. He/She should be a citizen of India

b. He/She must have completed the age of forty years

c. He/she must not hold any office of Profit under the Union, State or
Local Government

d. He/She should have the other qualifications required to become a
member of the Lok Sabha

e. Answer not known

BhHWS GWIsFdH HmevalT BHTHelled GuT RUIBHeUSBHTRT HHHH6T GHBHH
SHOUBTTSH FnBNlenediss HewIL NI,

a. @hHW GYLEETSE/ GYLBETTH B(HHH60 GauewiBLD
b. 40 auwg UYTHE SDLHSAUTTE B(HHHe0 GauewiBLd
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28.

29.

10 1 Dagao

C. gamw odfGeom, wIHev SHIPFGeT, VeV H 2 eitenTl &  DlewLoLiLH6eTGe0m
oagluid OUmID UFHaIUTD E(HHHE0 Fnl TG
d. wisememal 2 BeTaISHBETET BB HGHHEHmenl CUBNHHHe0 GCaueuthLd
e. alemL OFflwalesdensv
Match the following;:
President Tenure
A. Fakhruddin Ali Ahamed  1.24.8.1969 - 24.08.1974
B. V.V. Giri 2.25.7.1977 - 25.7.1982
C. Neelam Sanjeeva Reddy 3.24.08.1974 - 11.2.1977
D. Zakir Hussain 4.13.05.1967 - 3.05.1969
GRWIESH HM6eLUT uHalsd HTevLd
A. usmFHeT 960 IBHIDG) 1. 24.8.1969 — 24.08.1974
B. ail.al.&f 2. 25771977 — 25.7.1982
C. Bovlb Fehdeu QL ig 3. 24.08.1974 — 11.2.1977
D. &t o Ggeit 4. 13.05.1967 — 3.05.1969
A B C D
a. 1 2 3 4
b. 4 3 2 1
c. 3 1 2 4
d 1 3 4 2 e. alowL Gxfwailsvenev
Choose the correct statements regarding ‘American Presidential form of
government’:
1. President is the head of the state, indirectly elected by people.

2. There is absence of separation of power between organs of
government.

3. President is not accountable to the legislature.

4. President governs with the help of smaller body called kitchen
cabinet.

a.1 and 2 only b. 3 and 4 only c.1and 3 only

d. 2 and 3 only e. Answer not known

9ICwfbs HUT wHEHaTLF (woB GPHSH gFflwmer smppisemnet BxiTs

1.

2.
3.

4.

a.

d.

With reference to presidential election, choose the correct statements

SIFUCT  oFlelt  Hewevau] IOBMID  DIUT  IDHSHENMTED  LDMB(LPHLOTH
CxiTh 0O\ BH&LILIBHEUTIT.

SIgFe FmpIBEhdbDHmL B DFHSTImIS6T LIfdbslILLIQhHoHHTH.

SIHUT FLLIOSBSHSHT60 S (HLILILLOTL L.

oFLUT, ‘BFger CaUler’ eemidb FABw  Guelar o gHalwmed o
O&uwieumT.

1 wBpd 2 w G b.3 wBpd 4 w GO c. 1 wBmub 3 wl B
2 oBmpid 3 wiB e el G fluwalsdeanev
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1. President is indirectly elected in accordance with system of]
proportional representation by means of single transferable vote.

2. president take an oath of office before Chief justice of India.

3. President cannot be re-elected and term of office is five years.

a.1and 2 only b. 2 only c. 1 and 3 only

d.1,2and 3 e. Answer not known

@L()U.IU&BQB Hemeoaull BziTge0 @rﬁg)g; gfluimeor FmBoiBmenT Bgiie
. GQWISS  HMeVAUT, @MEDMB  OTMMI  UTHG  (P6OTS IS HTEFF
ygp g saiasHlag wenppsors CHiTmhosbHaalILBIBTT.

2. ®QWIGSH SHML(HHEG © FFHHIDHIB HMEVMD bHHUFH  uHalGuimL
© mISHemY QFUIZH MeUSHMTIT.

3. ®uwrssd FHmevauT Wewihld GCHTHOHBSBLILUL  SHSHHWBBeUT  LOBBILD
Slafal LUGHalbsTeold DbgH DLemIHBEMTEGLD.

a. 1 Bpid 2 1wl B b.2 wl @G c. 1 wBmub 3 1wl (Bib
d.1, 2 wBmd 3 e. alewL Oxflwalsdenev

30. Which of the following statement with respect to the Indian president’s
power is/are correct?

1. No demand for grant can be made except on his recommendation.

2. He/she address the legislature after general election and also at the
beginning of first session each year.

3. President is not answerable to any court of law for exercise of his
pardoning powers.

4. When the financial stability or credit of nation is threatened,
president can declare the financial emergency.

a.1, 3,4 only b. 2 and 3 are correct c.1and 2 only

d.1, 2,3, 4 correct e. Answer not known

QbFHws GuuIsdh SHmeveullal HFHETIRS6T GBlHS Lleu(bD  FaBBiselTeo

gflwrengl/ emeu 61g1/ eTemeu?

1. gauflear  uflbgieny Beam  eabsHoeurrrn  wrelwsd  Camildamasenuiud
OBmemT(Houy  (LIQUITS.

2. Qurgd BHTHNSGLI LNeoTeonT BTLTEHLOGTBSHH 6 LHU Fnl L HOGHTL enFULD,
SLEWIQET  (PH60  SLLSOSTLOIUD — SeuT o edywnBml  Hleuss
MEUSBIMT.

3. Qe SHOH HOGH OGN UPRIGLD HHBTTHMBHF OlFWeOLIBeUSHSHIUSH60
6hH HAHOIMHHMGID LFH6L Sledbd Geuemngul jeudluidledensv.

4. BILQET [HH Howew DFHHSHHNBE 2 6IT6NTEITeD, GQUITHS HENEVGUT
B&H OBHBHIY Henevenu! HNlaldbEHe0TLD.

a. 1, 3, 4 wl (@B b.2 wBmb 3 &M c. 1 wmmb 2 wi Hb
d. 1, 2, 3, 4 &l e. alewL G flwealsbensv

31. Which one of the following Thirukural is the Theme for Leotolstoy’s
Kingdom of God is within you, which inspired Gandhi to learn
Thirukural?
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a. From wisdom's vaunted lore what doth the learner gain,
If as his own he guard not others' souls from pain?

b. What his own soul has felt as bitter pain,
From making others feel should man abstain.

c. To punish wrong, with kindly benefits the doers ply;
Thus shame their souls; but pass the ill unheeded by.

d. To work no wilful woe, in any wise, through all the days,
To any living soul, is virtue's highest praise.

e. Answer not known

sThHIMW  HHISGBeT SBH  FHmewigu!  VIGWT  LTeverOLTUNeT  Eenmevenieir

opFTLdl 2 a1éHGeCenCuw e HMHOSHTGHULIBEG DIQLILDLUWITS  DIDLHSD

S BSHGBET 611?

a. oPfalamear SuGHeu HewGLT LINiglerGpmul
SHGHTUICUTEL GUTBBTES HemL

b. OFSIT IRNHBTEHT 2_WIThBHeNal HIGTITEN6I
GouewiBLD LIpeiidpent Glguied

C. BAMOFUI SHTDJ Q@MISHHED SHIGUTHITE00T
heiTeollleh OFUIFH alll_60

d. eTemaTSHHTEID 6TEhEHTHIBID UIMTSHEGHID LDGTHSHTEHITLD
LOTEITEIFUT  WITENLD &H606V

e. alewL G fwealedensn

32.  Which one of the following Kural is an equalent to Newton’s Third Law?
a. Though malice work its worst, planning no ill return, to endure,
And work no ill, is fixed decree of men in spirit pure.
b. Though unprovoked thy soul malicious foes should sting,
Retaliation wrought inevitable woes will bring.
c. Whose soul has felt the bitter smart of wrong, how can
He wrongs inflict on ever-living soul of man?
d. If, ere the noontide, you to others evil do,
Before the eventide will evil visit you.
e. Answer not known
LNesTeu(hLD GHMeNTH6NM60 61H HlULL L a6l caiBTaudl allghld@ Senemrm@Ld?
a. HBIHBHB IO CFUIHeIS HEWIEMID LMl 6IT60TT
Cauwiwmento orammrT GHmel
b. Gauiwmosd QFBBITHGID B6ens CFuiHL e
o wiwm all(pwph  SH(HD
C. HAMUITEG 6JeITITeND HTeleuTelr 616i10IHTGe0M
eTeUiiTdh@ @6 GFuied
d. VpTédeen (pBUBed CFUIUTET HLDSEE)60Te0T
LIBuUS6e0 SHTGW aU(HLD
e. alewL G fwaledensn
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33.

34.

35.

36.

37.

Which one of the following is highest among all virtues according
Valluvar?
a. Possession of Love b. Not Offending the Great c. Not Killing

d. Energy e. Answer not known
SIBRIST60 FBbHEH DIBLOTH GUGTEHAUT FnBleud 6157
A. S|6ITL|6HL 6MLD b. QuNGwreny LenpuITenLD C. O®meLeVTENLD
d. eadspenLenip e. alenL Oxflwalsvenev

Who told that Not killing is the way for Gurus?

a. Thiruvalluvar b. Vallalar c. Buddha
d. Mahavir e. Answer not known

Gameveur GOBMIGW GmHeumeT GBS eTeIml FnmluteuT wimT?

a. FHmeue@meuT b. aueltermeorit C. USSHT
d. wemrefiyi d. alewL Gxflweisvenev

Assertion (A): The one who does not get angry where his anger does not

work is the one who keeps his anger

Reason (R): It is harmful to be angry where there is not working

a. A and R are true R is the correct explanation of A

b. A and R are true R is not the correct explanation of A

c. A true but R false

d. A false but R true

By (A) : ussTH BLSHd Hend eupmoed STILMGCHT HTD  STLILICET
SLEUTET.

smyend (R): uelsars @LsHdesd Faid Gsmeraugs Hums almenaldseLbd

a. (A) wppd (R) sf Gwed (R) eetiug (A) &@ sflwrer alendsomgLb.

b. (A) wspw (R) af eyemed (R) ewiug (A) &@ sflwrer alsnsbsoeen

c. (A) sfl gemed (R) seupl

d. (A) seump spemed (R) &l

e. alemL g Twaledenso

What does anger kill?

a. cheerly face b. happiness of heart c. hostility
d.aand b e. answer not known

Flend eTeuBenBdH OBTe0SIIBEHI?

a. (PBLGVTEFSFenULI b. omwaipsFHanw C. LeDSHeDUI
d.a wmpw b e. alewl Oxflwaisvenev

Find the area of triangle whose sides are 25cm, 24cm, and 7cm.

RH (WPHCHTHHT Pty LibSmBer (WwosGw 25 6F.15, 24 Q&5 wBpbd 7
QF.16 eTe0lled ULTLILIGNG]| 6T6oT601?
a. 84 cm? b. 87.5 cm? c. 90 cm?

d. 300 cm? e. Answer not known
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38.

39.

40.

41.

42.

43.

14 1 Daga

A sweet is in the shape of rhombus whose diagonals are given as 4 cm
and 5 cm. The surface of the sweet should be covered by an aluminum
fail. Find the cost of aluminum foil used for 400 such sweets at the rate of
7 per 100 sq.cm.

QT @elly euedd JFTUIFHT 6uUgaled o 6T . DIGH6  cpened el L MIG6N
wepBuw, 4 GF.15 wwmpd 5 0F.15 @elinier GuBurlny WweaugId GLosdediul
oifelug salLTed epliul Geouewi®d. 100 #.0F.186@ T 7 aisbd GQrssd
400 @ailisenen Sieuifeiuld $HFHLLT60 (L 6l6laleNe| OFevaIm@b?

a. Rs. 280 b. Rs. 250 c¢.Rs. 300 d.Rs. 350 e. Answer not known

The radius of a cart wheel is 35cm. How many revolution does it make in
travelling a distance of 154 m

T (B UeWIYF FHETHHE b 35 5.5 g 154 15 OFHTeneve] HL[HSHT6V,
DIFFHSHID 615HHMEN (P(DFFHBBIS6T SBBIUI(HSHESHLWD?

a.70 b. 189 c. 119 d. 86 e. Answer not known

If the length of the diagonal of a square is 5 v2 cm then length of the side
is

a. bcm b.10cm c. icm d.10/2cm e. Answer not known

2
M FHTSH cpamevall L Benmd 52 QF.15 elafled SIHET LSS Sienay

a. 5 Qs  b. 10 Q58 c. % Qg8 d. 1042 Q&5 e. alen GQFfwaisvemey

Find the area of a right-angled triangle whose base is 12 cm and

hypotenuse 13 cm

m OFmlsmen (WsCaTauhdlen QLSS 12 CF.6 HiTewibd 13 0F.15 elelled
LITLUIL]  STeuoT

a. 30 cm?2 b.40 cm? ¢.50cm? d.35cm? e. Answer not known

The perimeter of a circle is equal to the perimeter of a square. Then, their
areas are in the ratio
a.4:1 b.11:7 «c14:11 d.22:7 e. Answer not known

RH QUL GHIHE FMWeNe], @ FHTSHIAT FDmenalBE FIOWD 61160  DIFH6I
UFLISeMesT al&lHid

a.4:1 b.11:7 ¢ 14:11 d.22:7 e. alewL Gxfwalsvenev

The Area of a rectangular field is 836 sq.m. One side of the rectangle is
22m. What is the perimeter of the field?
a. 100m b. 120m c. 380m

d. 400m e. Answer not known

R OF6aleus algal HeuddHar LTliLeTe 836F.15. GF6Ias allgel Bl &
LshdS Sleme] 2215 6Tl Db HleVHSHET HMMETENE HT6HIH.

a. 10018 b. 120 18 c. 380 1§

d. 400 18 e. alewl Oxflwalsvenev
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44.

45.

46.

47.

15 1 Daga

FaMe Tamil Nadu is established to attract investments for,

a. Electric vehicles b. Automobile industry

c. Defence industry d. All the above

e. Answer not known

JGBub HODBTH 6hd (PHeSHBemeT FTLILSBHTE OHTLMISLILIL (BeTernd?
a. LOGITEMY  GUITHE0IRIG6IT b. oy GLTOWTeNLID Hiens

C. UTHISTLILS SHlens d. GoBHew.  SIMTIHHID

e. alenL  OFfwalsvensv

Identify the rightly matched pairs :

1. Fintech City - Nandambakkam

2. Kalaignar Kottam - Tiruvarur

3. Vadakkupattu - Kancheepuram

a.1and 2 only b. 2 only c.2and 3 only

d. All the above e. Answer not known

gllwme QUTHHSHUl6Ten EenenTHemensd Sl 1.

l. 06L& BSJD - BHBHLDLITSHESLD

2. &m6evEhT GHMLLID - S\ (HeUTenHiT

3. &@LUl (b - HITEhFILTLD

a. 1 wmpib 3 L Hid b.2 wl G C.2 BmIb 3 1 (Bib

d. GuoBsemi. SmaisHId €. ol O fuialsbensy

The first state in the country to launch its own internet service with
optical fiber is,
a. Tamil Nadu b. Kerala c. Gujarat

d. Karnataka e. Answer not known
DLN9HH60  C.ewULT  cpevld Heigl OFThh Demewiwt  Cemeuenwt BT 19Ge0GW|
(PSHGT  (LPEOBUWITW DIBI(PSLILBSHSIW  LOTHI6VLD,

a. s BTH b. Gaiyerm C. HITH
d. sipmasm e. alewL O flwaisdenev

The major focus of the programme “City Investments to Innovate,
Integrate and Sustain (CITIIS 2.0) is,

a. Create satellite towns b. Integrated waste management

c. Road infrastructure d. All the above

e. Answer not known

USHSHTHHBID, @Q(HRISmeuILIL] IOBBID HevHHETMDHHTO  BBJ  (LPHeUBHEH6N
(CITIIS 2.0) &1L sFHer (pdhalul Grresid

a. HIWEW HBIMIHET 2 (THEUTHEH6V b. mrdmenhs e GevTeentn

C. FTEN6VEH &L 6MLOLIL d. GuBsewNi.  SHIEmTHSHID

e. allewL  Oxflwalsvensv
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48.

49.

50.
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Identify the correct statements
1. National Research Foundation is to be set up to promote research|
and development in India.
2. It will be set up under Department of Biotechnology
a. 1 only b. 2 only c. Both1and 2

d. Neither 1 nor 2 e. Answer not known
glwmer SnBuISemend 6wl 15d
1. @bswmaled SumuiFd wmpb Guburm L oamsGalds CHFw SITUIFS
SIBHBL_L 6T SIGHOHBLILL. 2 _GiTeNG).
2. @z o ulfl Gemhled mILuHHmBUIET S DIEHIDSBLILL. 2 _6IT6NG)
a.1 wl @G b.2 G C.1 wmmid 2 Gyewi(ld
d.1 Bmib 2 ByewiBosvev €. alewl G fluwaledenev

Which country took over the Presidency of World Meteorological
Organisation

a. United Arab Emirates b. United Kingdom c. China

d. Soudi Arabia e. Answer not known

6hS BTH 2 60% 6UTEImM6D SIMIDLILIGT Henevenoll GUTBILIDL JBmleTeng?
a. MEHW I DISTHLD b. maédw Guiys C. &eulm

d. seud) o@rLwim e. el O flwalsvenev

India is about to develop the Phukot Karnali Hydro - Electric Project in|
partnership with
a. Bhutan b. Bangladesh c. Thailand

d. Nepal e. Answer not known

SUBam sitermed BT - Waigshd) FHLHwEH @bHwm wrmLer gl G Cabgl
o2 (HauTdhd 2 eiengl?

a. L medr b. eumismen BHFIb C. SHTWIMHSI

d. Gpumembd e. alenL  Gxfuwalsvensv
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